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1) Verification process checks: 1 point

For the faults after manufacturing

Whether the manufactured device matches the design
Whether the manufactured device matches the specification
Whether the system design matches the specification

No, the answer is incorrect.
Score: 0

Accepted Answers:
Whether the system design matches the specification

2) Which are the inputs to a particular model checking / verification tool? 1 point

Model and Error Trace

Specification and Error Trace

Model and Specification

Model, Error Trace, and Specification

No, the answer is incorrect.
Score: 0

Accepted Answers:

Model and Specification

3) Given a model M and for a temporal formula (9, where (M, Sj) |= (0, which of the following 1 point

is FALSE?

(P does not strictly hold statically in a model M.
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@ holds for all states in the model M.

4) What does the temporal formula P -> GQ indicates?

If Q is TRUE in a state, then P is TRUE for all of its future states
Q is TRUE for all the future states

P and Q are TRUE for all the future state

If P is TRUE in a state, then Q is TRUE for all of its future states

No, the answer is incorrect.
Score: 0

Accepted Answers:
If P is TRUE in a state, then Q is TRUE for all of its future states

5) If p is an atomic proposition, express the following in temporal logic. p is true in the next

state but not in the next to next state.

Xp V IXXp
Xp /\ XXp
Xp /\ IXXp
Xp V XXp

No, the answer is incorrect.
Score: 0

Accepted Answers:
Xp /\ IXXp

6) What does the temporal formula P->Previous(Q) mean?

If P holds in a state then its previous state holds Q
If Q holds in a state then its next state holds P

If P holds then Q holds eventually

If P holds then eventually in the past Q holds

No, the answer is incorrect.
Score: 0

Accepted Answers:
If P holds in a state then its previous state holds Q

7) Given a Model M. What does (M,Sj) |= Globallyinpast((p) indicates?

Forallk,k>j, (M, Sy |= @
Forallk, k>=], (M, Sy) |= @
Forallk, k<j, (M, S |=@
Forallk, k<=, (M, S) |= @

No, the answer is incorrect.
Score: 0

Accepted Answers:
Forall k, k<=j, (M, Sp) |- @

8) What does the temporal formula (Previous(Q) JAN Q) \Y GQ mean?

Q holds in the previous, present, and the future states

Q holds either in the present and previous states or in all the future states

Q holds either in the previous or in the present state.
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Q holds either in the previous or in all the future states.

No, the answer is incorrect.
Score: 0

Accepted Answers:
Q holds either in the present and previous states or in all the future states

9) Which of the following is FALSE? 1 point
P V XQ <=> Either P holds in a state or Q holds in the next state.
XP V' XXP <=> P is TRUE in the next state or the next but one.
GFP <=> P is infinitely often TRUE.
(P /\ (Q UR)) <=> P holds in a state and R holds until Q holds
No, the answer is incorrect.
Score: 0
Accepted Answers:
P N (Q U R)) <=> P holds in a state and R holds until Q holds
10)Which of the following statements is a strict condition for a CTL formula? 1 point
Every path quantifier of a CTL formula should be followed by a logic operator
Every path quantifier of a CTL formula should be preceded by a temporal operator
Every temporal operator of a CTL formula should be preceded by a path quantifier
Every temporal operator of a CTL formula should be followed by a path quantifier
No, the answer is incorrect.
Score: 0
Accepted Answers:
Every temporal operator of a CTL formula should be preceded by a path quantifier
11Which of the following is FALSE? 1 point
AGp <=> p Holds Globally in all paths
EFp <=> There exists some path where p holds in future
AXp <=> In all paths, p holds in the next state
AFp <=> In all paths, p holds in all the future states
No, the answer is incorrect.
Score: 0
Accepted Answers:
AFp <=> In all paths, p holds in all the future states
12Which of the following is not a CTL Formula? 1 point
AF EG p
AlpUA[qUT]
EFGr
EGp VE(@QUT)
No, the answer is incorrect.
Score: 0
Accepted Answers:
EFGr
1 point

13)Which of the following is a CTL Formula?
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AEFr
Flrud]

AG ~(p N\ q)
AfpUqur]

No, the answer is incorrect.
Score: 0

Accepted Answers:
AG-~(p/\q)

14)A Kripke Structure consists of 1 point

A finite set of states S
A transition relation ->
A labelling function L, and a finite set of states S

A finite set of states S, a transition relation ->, and a labelling function L
No, the answer is incorrect.
Score: 0

Accepted Answers:
A finite set of states S, a transition relation ->, and a labelling function L

15)Which of the following is not a Kripke Structure? 1 point

| b c
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No, the answer is incorrect.
Score: 0

Accepted Answers:

16)Which one of the following state transition diagrams represents the given Kripke structure 1 point
< S, ->, L > specified below?

S ={s1, S2, S3, S4, S5, S}

->= { {51,152} ) {51,53}, {SZ|S3}1 {52154}1 {53,54}, {33,55}, {54155}v {SSYSG}v {36134}}
L: L(s1) = {p.a}, L(s2) = {p}, L(s3) = {p.a.1}, L(s4) = {p.1}, L(ss) = {1}, L{se} = {q}
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No, the answer is incorrect.
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Score: 0

Accepted Answers:

17)Which satisfaction relation(s) is/are true in the following Kripke 1 point
structure

[M, So] |= Alp U d]
M, Sq] |=E[p U]
M, Sq] |= El[p U q]
Both b and c

No, the answer is incorrect.
Score: 0

Accepted Answers:

Both b and ¢

18)For the following state transition diagram, which of the following options hold TRUE value 1 point
for the states {S0,51,52,S3}?
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aVr
pAq
pVr
p/\r

No, the answer is incorrect.
Score: 0
Accepted Answers:

pVr

19) For the below diagram, which of the states have TRUE value for A (p U g)? 0 points

{So}

{S1}

{So0.S1}
{S1,S3,54,S6}

No, the answer is incorrect.
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Score: 0

Accepted Answers:
{S1, S3, S4, S6 }
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